

Ήρουβιού άρχόν

Μουσική

Ηχος $\frac{3}{4}$ Κεώς ρ

Απλώς Α. Καμαριώου

Ολ οι οι οι οι οι οι οι οι οι οι οι οι οι οι οι

Χοι οι οι

οι οι οι οι οι οι οι οι οι οι οι οι οι οι οι

Κ

οι οι οι οι οι οι οι οι οι οι οι οι οι οι οι

Ν

οι οι οι οι οι οι οι οι οι οι οι οι οι οι οι

οι οι οι οι οι οι οι οι οι οι οι οι οι οι οι

ΧΕ οι οι οι οι οι οι οι οι οι οι οι οι οι οι οι

οι οι οι οι οι οι οι οι οι οι οι οι οι οι οι

Handwritten musical notation on a staff with notes and rests.

Handwritten musical notation on a staff with notes and rests.

Handwritten musical notation on a staff with notes and rests.

Handwritten musical notation on a staff with notes and rests.

Handwritten musical notation on a staff with notes and rests.

Handwritten musical notation on a staff with notes and rests.

Handwritten musical notation on a staff with notes and rests.

Handwritten musical notation on a staff with notes and rests.

Handwritten musical notation on a staff with notes and rests.

Handwritten musical notation on a single staff, featuring various rhythmic values and stems.

Handwritten musical notation on a single staff, including notes with stems and beams.

Handwritten musical notation on a single staff, with notes and stems, and the label 'Ipl' written below.

Handwritten musical notation on a single staff, with notes and stems, and the label 'Ipl' written below.

Handwritten musical notation on a single staff, with notes and stems, and the label 'Ipl' written below.

Handwritten musical notation on a single staff, with notes and stems, and the label 'Ipl' written below.

Handwritten musical notation on a single staff, with notes and stems.

Handwritten musical notation on a single staff, with notes and stems.

Handwritten musical notation on a single staff, with notes and stems, and the label 'Ipl' written below.

1. $\frac{1}{x^2} = x^{-2}$
 $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$

2. $\frac{1}{x^3} = x^{-3}$
 $\frac{d}{dx} x^{-3} = -3x^{-4} = -\frac{3}{x^4}$

3. $\frac{1}{x^4} = x^{-4}$
 $\frac{d}{dx} x^{-4} = -4x^{-5} = -\frac{4}{x^5}$

4. $\frac{1}{x^5} = x^{-5}$
 $\frac{d}{dx} x^{-5} = -5x^{-6} = -\frac{5}{x^6}$

5. $\frac{1}{x^6} = x^{-6}$
 $\frac{d}{dx} x^{-6} = -6x^{-7} = -\frac{6}{x^7}$

6. $\frac{1}{x^7} = x^{-7}$
 $\frac{d}{dx} x^{-7} = -7x^{-8} = -\frac{7}{x^8}$

7. $\frac{1}{x^8} = x^{-8}$
 $\frac{d}{dx} x^{-8} = -8x^{-9} = -\frac{8}{x^9}$

8. $\frac{1}{x^9} = x^{-9}$
 $\frac{d}{dx} x^{-9} = -9x^{-10} = -\frac{9}{x^{10}}$

9. $\frac{1}{x^{10}} = x^{-10}$
 $\frac{d}{dx} x^{-10} = -10x^{-11} = -\frac{10}{x^{11}}$

402